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Python

def gcd(u, v):

# we will use Euclid’s algorithm

# for computing the GCD

while v 1= 0
r=u%v # compute remainder
u=-v
v =r

return u

if _name__ == "*__main__*:
a = int{raw_input({ ‘First value: 7))
b = int{raw_input{*Second valus: 7))
print "gcd:*, gcd(a,b)
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C++

#include <iostrzam>
using namespace std;

int ged(int u, intv) {

J= We will use Euclid's algorithm
for computing the GCD =/

int r;

while (v 1= 0] {
r=u% v, //compute remainder
U=,
Vo= I

;

return u;

;

int main( ) {
int a, b;
cout << "First valua: "
cin == 3;
cout << "Eecond valua:
cin == b;
cout << "ged: " << ged(ab) << endl
return O
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int ged(int u, intv) { intr, while (v!=0) {r=u%v,u=v,v =1 }returnu; }
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